
Installation Instructions for  
307022008 or 307603579 FEMCO Weather Brake 

Fits: John Deere 655, 755, 855  

Listed and shown below are the parts required to install the 2008 or 3579 Weather Brake. Carefully study the photo-
graphs and identify all parts before starting assembly. Verify that all parts are in the box. Follow the installation steps 
numerically. 

712181101 RH WS Frame 

712181201 LH WS Frame 

712181301 Angle Strip 

711230601 Latch Bracket (2) 

712181401 Flat Strip 

712106701 Yoke 

711230301 Mount Bracket 

711230401 LH Door Post 

711230701  Door Latch (2) 

Form 286169800 Rev. 6/2001 

711230501 RH Door Post 

Not Shown: 
711389800 32” Windshield 
720592704 Motor Cover 
Model 307022008 Vinyl 
720592804 LH Door Assembly 
720592904 RH Door Assembly 
720599700 Curved Window (2) 
729200800 Hardware Bag 
Model 307603579 Canvas 
720855104 Motor Cover 
720855204 LH Door Assembly 
720855304 RH Door Assembly 
729357900 Hardware Bag 



1. Attach # 711230401 LH Door Post and # 711230501 RH 
Door Post to the foot rest using 1/4x1 hex bolts, flat 
washers and nuts. See  Figure 1 

2. Place the Motor Cover over the tractor. Slide the wide 
hems on each side of the Motor Cover over the LH and RH  
Door Posts. See Figure 2 

3. Insert # 712106701 Yoke into the wide hem at the top of the Motor Cover. 
Attach the Yoke to the top of the LH and RH Door Posts using 1/4x1” hex bolts 
and nuts. Place the bolt heads to the rear and the nuts to the front of the 
assembly. See Figure 1 

4.  Attach the # 711230301 Mount Bracket to the steering column using the 
1/4x1/2” U-bolt and nuts. See Figure 1 

5. Attach the top of the Mount Bracket to the Yoke 
using two (2) 1/4x3/4” hex bolts and nuts. Place 
the bolt heads to the front and the nuts to the rear 
of the assembly. See Figure 1 

6. Open the tractor hood and tie a 24” cloth strap to 
the two opposing grommets of the Motor Cover. 
See Figure 2, position A. 

Form 286169800 Rev. 6/2001 

Figure 1 

Step 3 

Figure 2 



9 Attach # 711230701 Door Latch to # 711230601 Latch Bracket using four (4) 
1/4x3/4” hex bolts and nuts. DO NOT TIGHTEN BOLTS AT THIS TIME.  

10. Close the LH door and position the door latch on the fender so the cut out in 
the LH door, under the wire frame, is over the notch in the door latch assembly. 

11. Using the door latch assembly as a template mark the location of the two (2) 
holes on the fender. Drill  9/32” diameter holes in the fender at the marks.  
Attach the door latch assemblies to the fender using 1/4x3/4” hex bolts, 
washers and nuts.  Repeat steps 10 and 11 for the RH Door. See Figure 4. 

12. Adjust the Door Latch up or down on the Latch Bracket 
so the door frame sits in the bottom of the notch while 
remaining square and level to the tractor on the Door Latch.  
TIGHTEN BOLTS ON LATCH ASSEMBLY AT THIS TIME 

7 .  Straighten the Motor Cover on the tractor. Tie straps to grommets on side of 
the Motor cover. Attach springs to grommets on the other side of the Motor 
Cover. Attach straps to springs using buckles. Adjust straps so tension is 
maintained on springs.  

8. Find hinge holes in Door Post and punch holes through Motor Cover at hole 
locations. Place Door Assembly level with the bottom of the Yoke and mark 
Door post hole locations. Cut slits in Door Assembly around wire frame and 
insert F1 clips. Attach F1 clips to Door Post using 3/16x3/4” hex bolts and nuts. 
Tie straps sewn on Motor cover to Door Assembly grommets. See Figure 3 and 
Window Assembly Instructions  

Form 286169800 Rev. 6/2001 

Figure 3 

Step 10 

Figure 4 




